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PART- B 

FIRST LANGUAGE MALAYALM (BT) 
Question No: 16-30 

 

 

16. ]p-jv-]-hm-Sn F-¶ Ir-Xn-bp-sS IÀ-¯m-hv 

a) D-ÅqÀ 

b) Ip-am-c-\m-im³ 

c) h-f-f-t¯mÄ 

d) sN-dp-tÈ-cn 

17. D-®n-¡-Xn-tcm³ F-¶ hm-¡n-sâ AÀ-°w 

a) {]-̀ m-X \-£-{Xw 

b) A-kv--X-a-b kq-cy³ 

c) {]-̀ m-X kq-cy³ 

d) N-{µ³ 

18. Xr-iqÀ Pn-Ã-bn-se Hm-W-¡m-e-̄ v \-S-¶n-cp-¶ \m-S³ I-e 

a) ]-S-b-Wn 

b) sX-¿w 

c) Iq-½m-«n 

d) K-cp-U³ Xq-¡w 

19. A-Ñ-s\-s¯-s« F-¶ ]-Zw ]n-cn-s¨-gp-Xp-I. 

a) A-Ñ³+F-¯-s« 

b) A-Ñ-s\+ F-¯-s« 

c) A-Ñ + F-¯-s« 

d) A-Ñ-\pw + F-¯-s« 

20. Zn-Kv-{ -̀aw F-¶ hm-¡n-\À-°w 

a) Zn-¡p-I-tfm-Sp-Å `-bw 

b) Zn-¡p-IÄ Xn-cn-¨-dn-bm-̄  A-h-

Ø 

c) a-Xn {`-aw 

d) `-bw 

21. hn-s¯-¶ a-lm-Zv-`q-Xw G-Xv km-ln-Xy-cq-]-am-Wv. 

a) sN-dp I-Y 

b) B-ß-I-Y 

c) Po-h N-cn-{Xw 

d) t\m-hÂ 

22. 2024 se Hm-S-¡p-gÂ A-hmÀ-Uv e-`n-¨-Xv? 

a) sI A-c-hn-µm-£³  

b) F³.F-kv am-[-h³ 

c) F-kv.sI h-k-´³ 

d) s_\ym-an³ 

23. th-K-ap-d-§q F-¶ I-hn-X B-cv F-gp-Xn-b-Xm-Wv. 

a) I-S-½-\n-« 

b) kn. hn-\-b-N-{µ³ 

c) kp-K-X-Ip-am-cn 

d) k-¨n-Zm-\-µ³ 

24. ]-´n-cn-Ip-e-¯n-se H-tc-sbm-cp kv-{Xo P-\w B-cm-Wv? 

a) Im-c-bv-¡-e-½ 

b) A-d-bv-¡Â _o-hn 

c) a-Xn-te-cn-¡-¶n 

d) ta-g-¯q-c-½ 



25. B-cp-sS h-cn-I-fm-Wn-h? 
BÀ-¯p I-\-̄ p-ho-gpw a-g-s -̧bv-̄ n-eq-þ 

Sm-Zy-am-bv In-«pw Nn-d-Ip ho-in 

Im-än-t\m-sSm-¸w kz-X-{ -́cm-bp-¨-am-bv 

]m-«p ]m-Sn-s¡m-­-e-bp-sa-¦nÂ 

Im-Spw I-S-ep-an-¸m-«p-ao h³ a-g-þ 

¡m-äp-sa-¶m-sW-¶p \m-a-dn-bpw 

a) _m-e-a-Wn-b-½ 

b) am-[-hn-¡p-«n 

c) h-b-emÀ 

d) kp-K-X-Ip-am-cn 

26. Iq-«-¯nÂ s]-Sm-¯-sX-gp-Xp-I? 

a) sN-s¶-Ãv 

b) Ip-ªn-¡-g-a 

c) Xr-sN-­³ 

d) sh¬ s\-Ãv 

27. sX-Õp sIm Ip-tdm-b-\m-Kn F-hn-sS B-Wv P-\n-¨-Xv? 

a) ssN-\ 

b) sIm-dn-b 

c) P-¸m³ 

d) aym-·À 

28. _m-em-a-Wn-b-½-bp-sS Ir-Xn-I-fnÂ s]-Sm-¯-Xv? 

a) I-fn-s¡m-« 

b) A-½ 

c) Ip-Spw-_n-\n 

d) ]m-hw am-\-h lr-Z-bw 

29. h-b-\m-Sn-sâ I-Ym-Im-cn F-¶-dn-b-s¸-Sp-¶ F-gp-¯p-¡m-cn? 

a) km-dm tPm-k-^v 

b) km-dm tXm-a-kv 

c) ]n. h-Õ-e 

d) am-[-hn-¡p-«n 

30. IÀ-¡-S-I am-k-¯n-se Xn-cp-thm-W-¯n-\v ]-d-bp-¶ t]-cv? 

a) Hm-W-¸p-e-cn 

b) I-¶n-tbm-Ww 

c) ]n-tÅ-tcm-Ww 

d) IÀ-¡n-S-I \n-em-hv 

 



PAPER- 1 
PART- C 

MATHEMATICS (English Medium) 
QUESTION NO: 31-50 

 
31. In figure PQ||RS, Find the value of k?  

 
 

a) 45° b) 60° c) 30° d) 50° 
32. A book has 220 pages. Arun read 3/5 part this week. So how many pages did Arun 

read? 
 

a) 120 b) 200 c) 132 d) 128 
 

33. ଵ

ଶ
+

ଵ

ସ
+

ଵ

଺
+

ଵ

଼
+

ଵ

ଵ଺
+

ଵ

ଷଶ
+

ଵ

଺ସ
+

ଵ

ଵଶ଼
= 

 
a) 

ଵଶ଼

ଵଶ଻
 b) 

ଵଶ଻

ଵଶ଼
 c) 

ଵଶ଺

ଵଶ଻
 d) ଵଶ଼

ଵଶ଺
 

 

34. The measures of three sides of a triangle are x cm, 8 cm, 12 cm.  If x is a natural 
number how many different triangles can be made with this measurement?  
 

a) 16 b) 15 c) 17 d) 12 
35. In figure AB||CD||EF LP = 50° Lq = 120°.  Find the Value Lx 

 

 
 

a) 30 b) 50 c) 10 d) 60 



36. A two digit number divided by another two digit number gives 6.125. What are the 
numbers? 
 

a) 74,12 b) 86,14 c) 98,16 d) 98, 12 
37. 50 kg of oranges were bought for 3000 Rupee of this 10 kg was spoilt. To get 20% profit at 

what price of a kilogram should the remaining be sold? 
 

a) 60 b) 70 c) 80 d) 90 
38. What is the length in cm of one side of a square?  If the square drawn with its diagonal as 

one side has an area 98 sq.cm? 
 

a) 7 b) 10 c) 29.5 d) 49 
39. What is the average of even numbers from 20 to 80 
 

a) 50 b) 40 c) 30 d) 60 
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a) 5 b) 4 c) 6 d) 7 
 

41. Find the area of 30 shaded region. 
 

 
 

a) 375 sq.cm b) 450 sq.cm c) 300 sq.cm d) 150 sq.cm 
 

42. If 212+212=2n what is the value of n? 
 

a) 24 b) 144 c) 4 d) 13 
 

43. Find the decimal forms of the value that will get by dividing 10  8 by 10 12 
 

a) 0.1 b) 0.01 c) 0.001 d) 0.0001 
 
 
 



 
44. Write the algebraic form of the series 

 
15, 25, 35………………………………. 
 

a) 5n b) 10n c) 10n+5 d) 10n-5 
45. Which is the highest power of 2 that can divide the product of numbers from 1 to 25? 

 
a) 20 b) 22 c) 24 d) 25 

 

46. Find the measure of the smallest angle of quadrilateral if the angles are in the ratio 
3:4:5:6  

 
a) 30° b) 60° c) 120° d) 100° 

 
47. If August 1st falls on a Saturday and august 31st falls on a Monday, How many Saturdays 

are there in the month? 
a) 7 b) 5 c) 4 d) 3 

48. A and B together can complete a task in 6 days, A alone can complete it in 9 days. How 
many days will B alone take to complete the work? 

a) 18 b) 17 c) 16 d) 20 
49. In an exam, a student needs 30% of the total marks to pass. The student scored 152 marks 

but failed by 28 marks. What is the total mark for the examination? 
 

a) 480 b) 580 c) 600 d) 100 
50. What is the area of quadrilateral ABCD? 

 
a) 30 sq.cm b) 24 sq.cm c) 18 sq.cm d) 20 sq.cm 

 
                               A 2cm   6 cm        2cm   B 
 
 

    C       D 
 
 
 
 
 
 
 
 
 

 

3 cm 


